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5:4=1 (oct. 1)
5:6=0 (ocrt. d)
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1 m= 100 cm,
Im=  1am,

CM,

1 oM =

lcM= MM.
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1 m= 100 cm,
I1m= 10 am,

1am= cMm,
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lcM= MM.

hn |1=‘ !-fq"’.f. -9



1 m= 100 cm,
I1m= 10 am,

1 am =10 cm,

lcM= MM.

hn 'kﬂ !-‘q'*’.'. -9




1 m= 100 cm, ‘
Im= 10 am,

1 am =10 cm,
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JCM= 10 mMm. |
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S52cM=51Mm 2 cm
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| MCTPp — M,
| MCTPp — CM,
| M — CM,

l cMm = MM



1 metp = 10 mm,
1 MmeTp = CM,
1 oM = CM,

l cMm = MM

.r‘" b\ .'\
' . ':‘ ~s
¥
P4
‘ll. : }‘r;/‘

i




1 metp = 10 mm,
1 meTp = 100 cmMm,

1 oM = CM,

l cMm = MM
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1 metp = 10 mm,
1 meTp = 100 cmMm,
lam= 10 cwm,

l cMm = MM
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1 MCTP — 10 M,
1 meTp = 100 cm,
1 M = 10 CM,

lem= 10 MM
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650-248=402

406-372=34

4050-132=3918




JlomaiHee 3a1aHue:

crp. 49, Ne 167,168
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